25
#2-4 [
I
\
-4 2
4\
-3 |- see graph \
see graph see graph }
\
-4
7) — = D
2(-1) #6
\x /
8) Y=-(22+4(2)-4=0
9) on the graph } {
10) Y=-1/2X2+1 e N
N
1) [1/4Y=1/8X2-1/2] 4 /
- 2.
Y=1/2X2-2 #9
12) [1/2(X+2)2 +(Y-3)2=32]2
(X+2)2+(Y-3)2=640r82
C=(-2,3) R=8
\
13) (X+2)2+(Y+2)2=52
] \
14-15) [4X2 - 32X + 64 + 4Y2 - 24Y = 0] + 4 \
X2-8X+16+Y2-6Y+9=9 A
(X-4)2+(Y-32=32 #10-11
C=(43) R=3 ”\\ /
16) CD2=[2-42+[-2-(-4)2=36+4=40 \Ft/
cb=2410 SSEES
2+4 2.4 1
17) (-------—2 S )=(1.-3) [ \
18) Y=1B83X-3=m=1/3
(1)=13@4)+b 20
-1/3=b Y=13X-1/3 /
19) C=(-1,2)
Ve xS from center of ellipse
X=®x 2 J \
20) on the graph

27A
X(2X - 5) = 12
\ 2X2-5X-12=0 z (Y-4)2=4
(X +3)(X-4)=0 \ Y2.8Y+16=4
oX+3=0 X-4=0 T v2-8y +12=0
X=-32 X=4 (Y-2)(Y-8)=0
3R2)Y =12 (4)Y =12 v-2=0 ¥-6=0
(-32)Y = (4)Y = Y=2 Y=6
Y=-8 Y=3
1) XY =12 2) (X-42+(Y-4)2=4
Y=2X-5 5X =20
Solutions: (-1.5, -8), (4, 3) X=4
Solutions: (4, 2), (4, 6)
4X2+9Y2  -36=0 [ L] ] X2+ Y2 = 49
-4X2 -4Y-8=0 X2+ 4Y2 =-16
9Y2-4Y-44=0 oo
BN - AL 1 5Y2 = 33
(-4ye(-4)° - 4(0)(-44) Y = 2257
2(9) 7 \J
Y =244, 2 P X2+ (£2.57)2 =49
D
(B B - X2=42.4
X=0 = X~ +6.5
3) 4X2+9Y2=36 (3-33) =)2;<2 "2 4) X2-4Y2 =16= X2+ 4Y2 =-16
Y=-X2-2=-4X2-4Y-8=0 "1 == X2+ Y2 =49
. no real solution
Solution: (0, -2) Solutions: (6.5, 2.57), (6.5, -2.57),
(-6.5, 2.57), (-6.5, -2.57)
X=2Y2-5 \ 5
X =-2Y2-1 (X+4)=1/2X2+3
L 2X= -6 1/2X2-X-1=0
e X=-3
» (1)1 - 4(1/2)(-1)
= - | (-8)=-2Y2-1 2(1/2)
5 5724 4 X ~273,-73
Y == 1 Y=273+4=673
Y=-73+4=327
5) X=2Y2-5 6) Y=12X2+3
X=-2Y2-1 Y=X+4

Solutions: (-3, 1), (-3, -1)

Solutions: (2.73, 6.73), (-.73, 3.27)

V.g-39¢ suoinjog



27B

1) Y=X+4
X2 + Y2 =25

X2+ (X+4)2=25
X2+ X2 +8X+16=25
2X2 +8X-9=0

-(8)£+(8) - 4(2)(-9)

202)

(-3) =-2x2

2X2-3=0

-(0) ¥(0)2-4(2)(-3)

202)

X=122, -1.22

X=.92, -4.92

Y =(.92) + 4 =4.92
Y = (-4.92) +4=-92

Solutions: (.92, 4.92), (-4.92, -.92)

\ A

3) X24+Y2=16
X2 4+(Y-6)2=4
Solution: (0, 4)

X2+Y2 -12Y436 = 4

X2+Y2-12Y+32= 0

-X2 -Y2 =-16
-12Y +32=-16
-12Y = -48
Y=4
X2 + (4)2 = 16
X=0

//

4X2 - 4(X -1)2 =36
4X2 - 4(X2 -2X+1) = 36
4X2 - 4X2 + 8X - 4 = 36
8X -4 =36

X=5

Y=(5)-1
Y=4

5) 4X2-4Y2=36
Y=X-1
Solution: (5, 4)

or

2X2-3=0

|
|

X2 =-3/2

\4
2) Y=-3
Y = -2x2

X=+1.22

Solutions: (1.22, -3), (-1.22, -3)

4X2 4+ (X) =4

4X2 +X-4=0

¥ (1)1 -4(4)(-4)

2(4)

X = .88, -1.13

(.88) = Y2 ~ + .94

(1.18) =Y2~

4) 4X2+Y2 =4
X =Y2

no real solution

Solutions: (.88, .94), (.88, -.94)

3x2 -Y =0

L

-3X2 -3Y2 + 48=0

-3Y2-Y +48=0

-(-1)f(-1)? - 4(-3)(48)

2(-3)

Y ~-4.17,3.84

(3.84) = 3X2 ~+ 1.13

X=+1.13

6) Y =23X2
X2 4+ Y¥2=16 =
-3X2-3Y2+48=0

(-4.17)=38%2 =
no real solution

Solutions: (1.13, 3.84), (-1.13, 3.84)

27C

12)
13)
14)

15)

16)

17)
18)

hyperbola and line

on the graph

X(1/2X-2)=8 = 1/2X2-2X-8=0

X2-4X-16=0
use quadratic formula

X=

-(-4) « ¥(-4)2 - 4(1)(-16)

2(1)

X = 42@ =4¢42«/§ =04245

XY
1]8
2| 4
4|2
8 | 1
-1 ]-8
2 |-4
4 |-2
-8 | -1

Yi=1/2@2+245 )-2=1+y5-2=125

Yo=1/2(2-245 )-2=1-y5 -2~-325

(6.5, 1.25), (-2.5, -3.25)
parabola, line

on the graph

X=1

Y=-2(12+3 = 2+3=1
Y=1

(1,1)

circle and line

on the graph

[75=3X2 +3Y2]+3 = 25=X2 + Y2

X2 + (-2X + 4)2= 25

X2 + (4X2-16X + 16)-25=0

5X2-16X-9=0

X=

-(-16) = (-16)2 - 4(5)(-9)

2(5)
_16+21

X= 16 + ¥436 -
10 10
J436 is approximately 21

= (3.7,-5)

Y=-237)+4=-34, Y=-2(-5)+4=5

(3.7, -3.4), (-5, 5)

#2

#8

#14

0-2

19) AB2=(-5-0)2+(0-3)2=
25+9 =34 = AB=434
5+3

\
\
(6.5, 1.25)
1 (-2.5, -3.25)
\
\
AX=1
I
| \
| \
| \
d L
\ \
h
A\

0= (1)

0/e¢-9/¢ suonnjos



27D 27E
1) hyperbola 32" ~4.2 XY 1) hyperbola and line
i = = = A
circle C=(0,0) R=4J2 =57 fcéZ zg #2 8 .an egreph #2
2) onthe graph +9 |8 N L Vi 3) X(X+4)=3 = X2+4X-3=0
3) X2-Y2=18 A
X2 + Y2 =32 I)(\ (\ 4 X= -4 + 442 - 4(1)(-3)
2X2 =50 { { } Jiﬁ) 5
_ 4247  _ s
4) X=25 = X=#5 \ \/ X=2220 = 2447 n
({7 ~265)
5) (5)2+Y2=32 / i N
V2= = Youd? =265 \ 5) Y1=(2447 ) +4)=24+47
A
Yo= (247 )+d4)=2-47 ‘
6) (5,47 ) (5,-47 ) (547 ) (:5,-47 ) 2 1
i i 0. . for graphing: A
7) parabola, line #8 6) (24+47,2+47 ) (2-47 ,247) (.65?, 4?65)9 48 \ ll
8) on the graph 7) parabola, parabola (-4.65, -.65)

o i \ ]
W =1 axis of symmetry 8) on the graph \ /
Y=-(1)2+2(1)=1 vertex (1,1) 9) -Y+ X2=1 £

9) Y=-3 - 71N Y+1/2X2=3 7
V=3 32X2=4 X2=8/3 y \
10&11) -3=-X2 + 2X -
8 _ _2d2y3 _ =246 / \
X2=2X+3 = X2.2X-3=0 10) X=+48/3 = N&_=_2V¥c¥S
+3 = % 3 {343 3 / \
(- -2)2 - 4(1)(-3) 2+ {16 { f \
x = —(2) 2 d2) - \ )
2(1) 2 v 11) Y=x2-1=(2"g ) -1=1o
X=3or-1 3
#4 . #a [
12) (3,-3) (1,-8) 1) (206, 5, 2d6 5, 2¥6 46 !
N o ( 3 3 ) ( 3 3 ) 3 ]
: /
13) hyperbola and line (Y =-1/3 X + 1) \ 4
N Y 13) circle, circle
14) on the graph ~ AT
™ 14) on the graph
15) X=-3Y+3 S ) grapl /
(-3Y+3)2-Y2=4 = 8Y2-18Y+5=0 ] = 15) X2 - Y2 =-16 L
e / N Xe4(YeBR= O
16) y=_(18) ¢ é—(g) -4@8)(5) (Y+6)2-Y2= 7 7N
_18+ 164 _18-4164 - 16) Y2+ 12Y +36-Y2=-7
Y="7s T S - 12Y=-43  Y=-37/12
31 5
™ s ™ o= i BB T 0P e 2 17) X2+ (-37/12)2=16 = X2 = 455/144 N NN T——
=(-2- + (-4 - = = (=0 - + - (- =
) (2-0F+(4-3) X= V455144 X==x455 ) (5-3%+(0-(2)
17) X=3(21)+3,  X=-3>)+3 4 +49 =53 = BD = {53 12 64+4=68=AC= 2V17
16 ’ 16
' 2+0 443 455 . 7 455 . 7 543  0-2 | _

18) (=-23/4,31/16), (~33/16, 5/16) 20) (—— =) =(-1-12) | 8 (557 847) (5 Cm) 20) (—— 252 = (-1, 1)

3/¢-A/le¢ suonnjos



